Вариант 1
1. Выполните умножение:
а) -8∙1,02                                     в) 0,8∙(-2,6)

б) -1,4∙(-0,11)                               г) 
2. Выполните деление:
а) 0,63:(-2,1)                        в) -0,325:1,3

б) -2,4:(-0,6)                        г) 
3. Решите уравнение:
а) 1,8у = -3,69                    б) х:(-2,3) = -4,6

4.Выполнить действия:

а)8,04∙(-3,2)-(-0,18)∙(-0,4)   

5.Решить уравнение:
6.Найти значение выражения:





Вариант 2
1. Выполните умножение:
а) 1,4∙(-6)                                   в) -0,7∙3,2

б) -1,02∙(-0,13)                                г) 
2. Выполните деление:
а) -69:2,3                                  в) 0,84:(-2,4)

б) -35:(-0,7)                               г) 
3. Решите уравнение
а) -1,4х =-4,27                         б) у:3,1 = -6,2
4.Выполнить действия:

а)(3,7-8,6)∙(-3,1)-5,09      
5.Решить уравнение:



6.Найти значение выражения:
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